

TMA 4125 Plenums regning 8

Runge-Kutta methods

Butcher tableau

c_1	a_{11}	a_{12}	\dots	a_{1s}
c_2	a_{21}	a_{22}	\dots	a_{2s}
\vdots	\vdots	\vdots	\ddots	\vdots
c_s	a_{s1}	a_{s2}	\dots	a_{ss}
<hr/>				
	b_1	b_2	\dots	b_s

Differential equation

... differential equation

$$y'(t) = f(t, y(t)), \quad y(0) = y_0$$

$$y_{n+1} = y_n + h(b_1 \cdot k_1 + b_2 \cdot k_2 + \dots + b_s \cdot k_s)$$

$$k_i = f\left(t_n + hc_i, y_n + h \sum_j a_{ij} \cdot k_j\right)$$

Example 1.

$$\begin{array}{r|rr} 0 & 0 & 0 \\ 2/3 & 2/3 & 0 \\ \hline & 1/4 & 3/4 \end{array}$$

$$y'(t) = \sqrt{t^2 + y(t)^2}, \quad y(0) = 0, \quad h=1$$

a) what is the order of the method?

b) calculate y_1

↳ solution

a) order 1: $\sum b_i = 1$

$$\sum b_i = \frac{1}{4} + \frac{3}{4} = 1 \quad \text{OK}$$

order 0, 1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 15, 16, 17, 18, 19, 20, 21, 22, 23, 24, 25, 26, 27, 28, 29, 30, 31, 32, 33, 34, 35, 36, 37, 38, 39, 40, 41, 42, 43, 44, 45, 46, 47, 48, 49, 50, 51, 52, 53, 54, 55, 56, 57, 58, 59, 60, 61, 62, 63, 64, 65, 66, 67, 68, 69, 70, 71, 72, 73, 74, 75, 76, 77, 78, 79, 80, 81, 82, 83, 84, 85, 86, 87, 88, 89, 90, 91, 92, 93, 94, 95, 96, 97, 98, 99, 100

$$\text{order 2: } \sum b_i c_i = 1/2$$

$$\sum b_i c_i = \frac{1}{4} \cdot 0 + \frac{3}{4} \cdot \frac{2}{3} = \frac{1}{2} \quad \text{OK}$$

order 3:
$$\left\{ \begin{array}{l} \sum_i b_i \cdot c_i^2 = 1/3 \\ \sum_{i,j} b_i a_{ij} c_j = 1/6 \end{array} \right.$$

$$\sum b_i \cdot c_i^2 = \frac{1}{4} \cdot 0^2 + \frac{3}{4} \cdot \left(\frac{2}{3}\right)^2 = \frac{1}{3} \quad \text{OK}$$

$$\sum b_i a_{ij} c_j = \frac{1}{4} \cdot 0 \cdot 0 + \frac{1}{4} \cdot 0 \cdot \frac{2}{3}$$

$$+ \underbrace{\frac{3}{4} \cdot \frac{2}{3} \cdot 0}_{i=2, j=1} + \underbrace{\frac{3}{4} \cdot 0 \cdot \frac{2}{3}}_{i=2, j=2} = 0 \quad \text{not OK}$$

answer: the method has order 2

$$b) \quad y'(t) = \sqrt{t^2 + y(t)^2}, \quad y(0) = 0, \quad h = 1$$

$$k_i = f\left(t_0 + h \cdot c_i, y_0 + h \cdot \sum_j a_{ij} k_j\right)$$

$$f(t, y) = \sqrt{t^2 + y^2}$$

$$f(x, y) = \sqrt{x^2 + y^2}$$

$$k_1 = f\left(0 + 1 \cdot 0, 0 + 1 \cdot \left(\underbrace{a_{11}}_0 k_1 + \underbrace{a_{12}}_0 k_2\right)\right)$$

$$= f(0, 0) = 0$$

$$k_2 = f\left(0 + 1 \cdot \frac{2}{3}, 0 + 1 \cdot \left(\underbrace{a_{21}}_{\frac{2}{3}} k_1 + \underbrace{a_{22}}_0 k_2\right)\right)$$

$$= f\left(\frac{2}{3}, 0\right) = \sqrt{\left(\frac{2}{3}\right)^2 + 0^2} = \frac{2}{3}$$

$$y_1 = y_0 + h(b_1 k_1 + b_2 k_2) = 0 + 1\left(\frac{1}{4} \cdot 0 + \frac{3}{4} \cdot \frac{2}{3}\right)$$

$$= \frac{1}{2}$$

4 1)

Example 2

0	0	0	0
$\frac{1}{3}$	$\frac{1}{3}$	0	0
$\frac{2}{3}$	0	$\frac{2}{3}$	0
<hr/>			
	$\frac{1}{4}$	0	$\frac{3}{4}$

a) order conditions

b) calculate ν for band equation

b) ...
as in example 1.

c) adaptive method

3) solution

a) order 1: $\sum b_i = 1$

$$\sum b_i = \frac{1}{4} + 0 + \frac{3}{4} = 1 \quad \text{OK}$$

Order 2: $\sum b_i c_i = \frac{1}{2}$

$$\sum b_i c_i = \frac{1}{4} \cdot 0 + 0 \cdot \frac{1}{2} + \frac{3}{4} \cdot \frac{2}{3} = \frac{1}{2} \quad \text{OK}$$

$$\text{order 3: } \begin{cases} \sum b_i \cdot c_i^2 = 1/3 \\ \sum b_i a_{ij} c_j = 1/6 \end{cases}$$

$$\sum b_i \cdot c_i^2 = \frac{1}{4} \cdot 0^2 + 0 \cdot \left(\frac{1}{3}\right)^2 + \frac{3}{4} \cdot \left(\frac{2}{3}\right)^2 = 1/3 \quad \text{OK}$$

$$\sum b_i a_{ij} c_j = \underbrace{\frac{1}{4} \cdot 0 \cdot 0}_{i=1, j=1} + \underbrace{\frac{1}{4} \cdot 0 \cdot \frac{1}{3}}_{i=1, j=2} + \underbrace{\frac{1}{4} \cdot 0 \cdot \frac{2}{3}}_{i=1, j=3}$$

$$+ \underbrace{0 \cdot \frac{1}{3} \cdot 0}_{i=2, j=1} + \underbrace{0 \cdot 0 \cdot \frac{1}{3}}_{i=2, j=2} + \underbrace{0 \cdot 0 \cdot \frac{2}{3}}_{i=2, j=3}$$

$$+ \underbrace{\frac{3}{4} \cdot 0 \cdot 0}_{i=2, j=1} + \underbrace{\frac{3}{4} \cdot \frac{2}{3} \cdot \frac{1}{3}}_{i=2, j=2} + \underbrace{\frac{3}{4} \cdot 0 \cdot \frac{2}{3}}_{i=2, j=3}$$

$$= \frac{1}{6} \quad \text{OK}$$

$$\text{order 4: } \sum b_i c_i^3 = \frac{1}{4}$$

$$\sum b_i c_i^3 = \frac{1}{4} \cdot 0^3 + 0 \cdot \left(\frac{1}{3}\right)^3 + \frac{3}{4} \cdot \left(\frac{2}{3}\right)^3 = \frac{2}{9} \quad \text{not OK}$$

answer: the method has order 3.

$$b) \quad y'(t) = \sqrt{t^2 + y(t)^2}, \quad y(0) = 0, \quad h = 1$$

$$k_i = f(t_0 + h \cdot c_i, y_0 + h \sum_j a_{ij} k_j)$$

$$y_1 = y_0 + h(b_1 k_1 + b_2 k_2 + b_3 k_3)$$

Break until $1) : 1) 0$

$$k_1 = f(0 + 1 \cdot 0, 0 + 1 \cdot (a_{11} \cdot k_1 + a_{12} \cdot k_2 + a_{13} \cdot k_3))$$

$$= f(0, 0) = 0$$

$$k_2 = f(0 + 1 \cdot \frac{1}{2}, 0 + 1 \cdot (a_{21} \cdot k_1 + a_{22} \cdot k_2 + a_{23} \cdot k_3))$$

$$= f\left(\frac{1}{3}, 0, 0\right) = \frac{1}{3}$$

$$= f\left(\frac{1}{3}, 0\right) = \frac{1}{3}$$

$$k_3 = f\left(0 + 1 \cdot \frac{2}{3}, 0 + 1 \cdot \left(\underbrace{a_{31}}_0 \cdot k_1 + \underbrace{a_{32}}_{\frac{2}{3}} \cdot k_2 + \underbrace{a_{33}}_0 \cdot k_3\right)\right)$$

$$= f\left(\frac{2}{3}, \frac{2}{9}\right) = \sqrt{\frac{4}{9} + \frac{4}{81}} = \frac{2}{9} \sqrt{10}$$

$$y_1 = y_0 + h(b_1 k_1 + b_2 k_2 + b_3 k_3)$$

$$= 1 + 1 \cdot \left(\frac{1}{3} \cdot 1 + 1 \cdot \frac{1}{9} + \frac{3}{9} \cdot \frac{2}{9} \cdot \sqrt{10}\right)$$

$$= \frac{\sqrt{10}}{6}$$

c) adaptive methods

method from example 1 has order 2

method from example 2 has order 3

compute error estimate

$$E \approx \left| \underbrace{y_1}_{\text{from } \Delta x = h} - \underbrace{\tilde{y}_1}_{\text{from } \Delta x = h/2} \right|$$

1.2 1.7

if $\epsilon < \text{tol}$, keep approximation y_1 ,

if $\epsilon > \text{tol}$, redo the step with

a smaller step size h_{new} ,

$$h_{\text{new}} < h \cdot \left(\frac{\text{tol}}{\epsilon} \right)^{p+1}$$

) $p+1$ is the order of the better method

$$y_1 = \frac{\sqrt{10}}{6}, \quad \tilde{y}_1 = \frac{1}{2}$$

$$\epsilon \approx \left| \frac{\sqrt{10}}{6} - \frac{1}{2} \right| \approx 0,027$$

Example 3.

$$\begin{array}{c|cc} 0 & 0 & 0 \\ 2/3 & 2/3 & 0 \\ \hline & 1/4 & 3/4 \end{array}$$

$$y'(t) = \lambda \cdot y(t), \quad y(0) = y_0$$

a) find $R(z)$ s.t. $y_{n+1} = R(h \cdot \lambda) \cdot y_n$

b) Find the stability region $y_{n+k} = R(h \cdot \lambda)^k \cdot y_n$

c) for $\lambda = -2$, find for which h the method is stable

↳ solution.

$$a) \quad y'(t) = \lambda \cdot y(t)$$

$$f(t, y(t)) = \lambda \cdot y$$

$$k_1 = f\left(t_n + h \cdot 0, y_n + h \left(\underset{0}{a_{11}} k_1 + \underset{0}{a_{12}} k_2 \right)\right)$$

$$= f(t_n, y_n) = \lambda \cdot y_n$$

$$K_2 = f\left(t_n + h \cdot \frac{2}{3}, y_n + h \cdot \left(\underbrace{a_{21}}_{\frac{2}{3}} \cdot \underbrace{k_1}_{\lambda \cdot y_n} + \underbrace{a_{22}}_0 \cdot k_2 \right)\right)$$

$$= f\left(t_n + \frac{2}{3}h, y_n + \frac{2}{3}h \lambda y_n\right)$$

$$= \lambda y_n + \frac{2}{3}h \lambda^2 y_n$$

$$y_{n+1} = y_n + h \left(\frac{1}{4}k_1 + \frac{3}{4}k_2 \right)$$

$$= y_n + \frac{1}{4} \cdot h \cdot \lambda \cdot y_n + \frac{3}{4} \cdot h \cdot \lambda y_n + \frac{3}{4} \cdot h \cdot \frac{2}{3} h \lambda^2 y_n$$

$$= y_n \left(1 + h\lambda + \frac{1}{2} (h\lambda)^2 \right)$$

$$R(z) = 1 + z + \frac{1}{2}z^2$$

b)

$$\{z \in \mathbb{C} : |1 + z + \frac{1}{2}z^2| < 1\}$$

c)

$$\lambda = -2, \quad z = h\lambda$$

$$\frac{1}{2}z^2 + z + 1 = \frac{1}{2} \underbrace{(z+1)^2}_{z^2 + 2z + 1} + \frac{1}{2} \geq 0$$

$$\text{if } z \in \mathbb{R}, \text{ then } |1 + z + \frac{1}{2}z^2| = 1 + z + \frac{1}{2}z^2$$

because $z = h^{-1} = -2h$ and $h \in \mathbb{K}$

$$|1 + z + \frac{1}{2}z^2| < 1 \Leftrightarrow |1 - 2h + 2h^2| < 1$$

$$\Leftrightarrow 2h^2 - 2h < 0$$

$$\Leftrightarrow \underbrace{h}_{\geq 0} (2h - 2) < 0$$

$$\Leftrightarrow 2h - 2 < 0$$

$$\Leftrightarrow 2h < 2$$

$$\Leftrightarrow h < 1$$

answer: the method is stable for

... ..

$$y' = -2y \quad \text{if} \quad 0 < h < 1$$